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6XMXG�V\XNXU NDPL�VHPEDKNDQ�NHSDGD WXKDQ�\DQJ�PDKD�HVD�\DLWX $OODK 6:7��7XKDQ�<DQJ�

0DKD�$JXQJ�GDQ�0DKD�7LQJJL��$WDV�WDNGLUPX�NDPL�ELVD�PHQMDGL�SULEDGL�\DQJ�EHUSLNLU��EHULOPX��

EHULPDQ�GDQ�EHUVDEDU��6HPRJD�NHEHUKDVLODQ�LQL�PHQMDGL�VDWX�ODQJNDK�DZDO�XQWXN�PDVD�GHSDQ NDPL��

GDODP�PHUDLK�FLWD�FLWD�NDPL�

'HQJDQ�LQL�NDPL�SHUVHPEDKNDQ�NDU\D�NDPL�LQL�NHSDGD�

�� .HGXD� RUDQJ� WXD� \DQJ� VHODOX�PHPEHUL� GXNXQJDQ��PRWLYDVL�� GDQ� GRD� NHSDGD� NDPL��'HQJDQ�

DGDQ\D�EHOLDX�NDPL�GDSDW�WXPEXK�EHVDU�GHQJDQ�NDVLK�VD\DQJ�\DQJ�WXOXV�\DQJ�EHOLDX�EHULNDQ�

NHSDGD�NDPL�

�� .HOXDUJD�GDQ�VDXGDUD�� VDXGDUD�\DQJ�WHODK�VHQDQWLDVD�PHPEDQWX�GDODP�PHQ\HOHVDLNDQ�3UR\HN�

$NKLU�LQL�

�� ,EX� 0LD� 5RVPLDWL�� 6�6L��� 07� 6HODNX� GRVHQ SHPELPELQJ� \DQJ� VHODOX� PHPEHULNDQ�

ELPELQJDQQ\D NHSDGD�NDPL�GHQJDQ�VDEDU VHKLQJJD NDPL�GDSDW�PHQ\HOHVDLNDQ�SUR\HN�DNKLU�LQL�

GHQJDQ�PDNVLPDO�

�� %DSDN�LEX�GRVHQ�SURGL�'��5HND\DVD�3HUDQJNDW�OXQDN�$SOLNDVL�\DQJ�VXGDK�PHPEHULNDQ�LOPX�

\DQJ�VDQJDW�EHUPDQIDDW�VHKLQJJD�NDPL GDSDW�PHQFDSDL�WDKDS�DNKLU�GL�SHUNXOLDKDQ�GHQJDQ�EDLN�

�� 6DKDEDW�� VDKDEDW�NDPL \DQJ�VHODOX�DGD�GDQ�VDEDU�VHUWD VHODOX�PHPEHULNDQ�GXNXQJDQ�GDQ�GRD�

ZDODXSXQ�NLWD�PHPLOLNL�IDVH�QDLN�GDQ�WXUXQ�GDODP�EHUWHPDQ�

8QWXN�VHPXD�SLKDN�\DQJ�WHODK�NDPL�VHEXWNDQ��WHULPD�NDVLK�\DQJ�VHEHVDU�� EHVDUQ\D�DWDV�VHPXD�

\DQJ�NDOLDQ�EHULNDQ��6HPRJD�WXKDQ�VHQDQWLDVD�PHPEDODV�VHWLDS�NHEDLNDQ�\DQJ�NDOLDQ�ODNXNDQ�GDQ�

GLSHUPXGDK�VHJDOD�XUXVDQ�NHKLGXSDQ�\DQJ�DNDQ�NDOLDQ�ODOXL�NHGHSDQQ\D�


